lJoint Industry Board

Statutory Redundancy Pay Table

To calculate the number of weeks redundancy pay, cross reference the person's age and years of service and then
multiply that number by the weekly salary (current maximum weekly salary is £525 which will rise in 2020). E.g. a
person with a salary of £300 aged 21 with 4 years of service will be entitled to two weeks salary e.g. a total
redundancy of £600.

17* -The table starts at age 17, as it is possible for a 17 year old to have 2 years service. Compulsory school
leaving age can be 15%4 or 154> where a child is 16 before 1 September.

61* -The table stops at age 61 because for employees age 61 and over, the payment remains the same.

Service (Years)
Age| 2 |3 /4|56 /| 7 |8 | 9 |10 11 12 | 13 |14 |15 | 16 | 17 | 18 | 19 | 20

17 1

18 1 1%

19 1 1% 2

20 1 1% 2 2% -

21 1 1% 2 2% 3 -

22 1 1% 2 2% 3 3% -

23 1% 2 2% 3 3% 4 4% -

24 2 2% 3 3% 4 4% 5 Stz -

25 2 B8 3% 4 4% 5 5% 6 6% |-

26 2 B3 4 4% 5 5% 6 6% |7 7% -

21 2 83 4 5 5% 6 6v%2 |7 72 8 8%

28 2 3 4 5 6 6% 7 72 8 8% 9 9% -

29 2 8 4 5 6 [7 72 8 8% 9 9% |10 [10%2 -

30 2 3 4 5 b6 7 8 8% 9 9% 10 |10%: 11 [11% |

31T 2 3 4 5 b6 |7 8 9 9% 10 [10% (11 [11% (12 12% -

32 2 3 4 5 b6 |7 8 9 10 [10% 11 [11% 12 [12% 13 [13% |-

33 2 3 4 5 6 [7 8 9 10 11 11%. 12 [12% (13 [(13% 14 |14% |-

34 2 3 4 5 6 [7 8 9 10 11 12 12% 13 [13% (14 [14% (15 [15% |-
35 2 3 4 5 6 [7 8 9 10 11 12 |13 [13% (14 [14% 15 [15% 16 |16%
36 2 3 4 5 b6 |7 8 9 10 11 12 (13 14 [14% 15 [15% (16 |16% (17
3r 2 3 4 5 b6 |7 8 9 10 11 12 (13 14 (15 [15% (16 |16% 17 [17%
38 2 3 4 5 b6 7 8 9 10 11 12 (13 14 (15 16 [(16% 17 [17% |18
39 2 3 4 5 6 [7 8 9 10 11 12 13 14 (5 16 17 [17% 18 [18%
40 2 3 4 5 6 7 8 9 10 11 12 13 14 (15 16 17 18 [18% |19
41 2 3 4 5 6 7 8 9 10 11 12 13 14 (5 16 17 18 19 [19%
42 2% 3% 4% BYe 6% 7¥2 8% 9% [10% 11% 12% 13% 14% 15% [(16% (17% (18% (19% [20%
43 3 4 5 6 7 8 9 10 11 12 13 14 15 16 (17 18 19 (20 21
44 3 4% 5% |62 [1¥2 82 9% (10% 11% (12% [13% (14% [15% (16% 17% (18% [19% 20% 21%
45 3 4% 6 [7 8 9 10 11 12 13 14 (15 16 (17 18 (19 (20 21 22
46 3 4% 6 [1¥2 8% 9% [10%2 (11%% (12% (13% [14% 15% 16% [17% (18%2 (19%2 [20%2 [21Y% [22%
47 3 4% 6 [~ 9 10 11 (12 13 14 15 16 17 18 19 20 (21 22 23
48 3 4% 6 [1¥2 9 [10%2 (11%2 (12% (13% [14% [15% [16% 17% [18% [(19% [20%2 (21Y2 [22Y% [23%
49 3 46 [~ 9 [10% 12 (13 14 (15 16 (17 18 (19 20 P21 22 (23 24
50 3 4% 6 7%~ 9 [10% (12 |13% (142 15% (16%2 17% (18% |19% [20% 21% [22Y% 23% [24%:
51 3 4% 6 [~ 9 |10% 12 13% 15 |16 17 18 19 20 (21 22 23 24 |25
52 3 4% 6 729 [10%%2 12 132 15 [16% (17% (18% 19% 20% 21% 22% 23% 24% [25Y%
53 3 4% 6 7~ 9 [10%2 12 132 15 [16% 18 19 20 21 22 23 24 25 |26
54 3 4% 6 7~ 9 [10%2 12 |13 15 [16% (18 [19% 20% _21% 22% 23% 24% 25Y% [26%
5 3 4% 6 7~ 9 |10% 12 |13% (15 |16% (18 |19% 21 22 23 24 25 26 27
56 3 4% 6 7~ 9 [10% 12 |13% (15 |16% (18 |[19% 21 22% [23% 24% [25'% [26% [27%:
57 3 4% 6 [~ 9 [10% 12 |13% (15 |16% (18 |19% 21 22% 24 25 26 27 |28
58 3 4% 6 729 [10%2 12 |13 15 [16% (18 [19% 21 22% 24 25% 26% 27% 28Y%
5 3 4% 6 7~ 9 [10%2 12 |13 15 [16% (18 [19% 21 22% 24 25% 27 28 29
60 3 4% 6 7~ 9 [10% 12 [13% 15 [16% 18 [19% 21 [22% 24 25% 27 [28% 29%
61+ 3 4% 6 [/~ 9 [10% 12 [13% (15 |16% (18 [19% 21 22% 24 25% 27 [28% 30
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